Evaluate each limit
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Reminders
Next assess: 11/30
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a. (3x%y-y?)/(2xy-x°)

b. y=3 and y+2=2(x-1)

523 a use imp. diff

b. (0, sqrt(2)), (0, -sqrt(2))

c. h.t. means y=0, plug in to original
and get false result
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a. use implicit diff (' 3) (17 2) ‘?_ 1

b. y-1=1/4 (x+2) .,_,__2 e

C. (21_1) (_41_1)

d. No, h.t. at x=-1 and (-1,0)
does not satisfy given equation
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600. (sin(x)-x*IN(x)*cos()/(x*sin(x)) 292 2005 7 212t
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V= L7,3 - 32K 532 500 2
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Using implicit differentiation to find a second derivative (notes)
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to simplify, multiply by - X
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Derivatives of Inverse Functions (notes

What are inverse fu nctions’i?

?p'("f’ n ot ".,}'
Find y* if y=2x-6




A property of inverse functions: J,‘ .- ’2_51. " é

f(a(x)) = x



If f and g are inverse functions, then f(g(x)) = x ADD TO BOOKLET
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g(x) =

f'(a(x))
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If f(x) = x°+2x-1 then find @*(2).
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If f and g are inverses and f(xX)=4x"+3x3, find g'(7)
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The function f is defined by f(x) = X +dx+2. If g is the inverse function of f and g(2) = 0, what is the
value of g’(2) ? _f : 7,1.“'4
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Have a Happy Thanksgiving!

Finish L'hopital's rule hw p 564
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